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1 D T fBetili 750 22
2 g 2 C fBetili 200 2
3 FE XLy 7= 900 =
4 BHR Ll fBetili 850
5 B OApE fBetili 500
6 HE LLx fBetili 1,250 =
7 HHE ESD fBetili 1,200 =
8 HBTH Xlbx foetili 650
9 EE AL fgili 750 2
10 o ZHZ foetili 1,150 =
11 ;WA LAWVG foetili 700 2
12 /N PER fBetili 900
13 HE Lo fBetili 300 I
14 Vefg &k foetili 500 &
15 T DA fgili 900 =
16 SHH R feili 1,350
17 g OAHdE 7= 900 X
18 <hIEs LiFoy fgili 1,400
19 gk 2ok feili 750
20 K& T=inéL feili 200 2=
21 D fgili 550
22 L BH 73] 750
23 A OAL 73] 400 =

at 17,800 =

P 2R 94.28%




